Célculo mental /v\N/v\Y/v\

11 Nombre y apellidos:
Fecha: Matematicas 2.°

Sumar decenas completas a nimeros de tres cifras

624 + 30 = 654

104 + 10 = 802 + 20 = 203 + 30 =
218 + 10 = 715+ 20 = 411+ 30 =
326 + 10 = 924 + 20 = 622 + 30 =
439 + 10 = 537 + 20 = 334 + 30 =
542 + 10 = 346 + 20 = 746 + 30 =
657 + 10 = 651 + 20 = 955 + 30 =
763 + 10 = 163 + 20 = 869 + 30 =
875+ 10 = 272 + 20 = 508 + 30 =
981 + 10 = 448 + 20 = 132 + 30 =
340 + 10 = 608 + 20 = 752 + 30 =

Aciertos: Aciertos: Aciertos:




Célculo mental /v\N/v\Y/v\

11 Nombre y apellidos:
Fecha: Matematicas 2.°

Sumar decenas completas a nimeros de tres cifras

624 + 30 = 654

101 +40 = 207 + 50 = 107 + 60 =
319+ 40 = 816 + 50 = 311 + 60 =
522 + 40 = 422 + 50 = 424 + 60 =
734 + 40 = 634 + 50 = 533 + 60 =
946 + 40 = 345 + 50 = 928 + 60 =
255 + 40 = 138 + 50 = 219 + 60 =
457 + 40 = 529 + 50 = 805 + 60 =
648 + 40 = 711 + 50 = 616 + 60 =
833 + 40 = 903 + 50 = 722 + 60 =
523 +40 = 943 + 50 = 732 + 60 =

Aciertos: Aciertos: Aciertos:




Célculo mental /v\N/v\Y/v\

11 Nombre y apellidos:
Fecha: Matematicas 2.°

Sumar decenas completas a nimeros de tres cifras

624 + 30 = 654

201 +70 = 801 + 80 = 109 + 90 =
115+ 70 = 613+ 80 = 208 + 90 =
922 +70 = 405 + 80 = 505 + 90 =
717 +70 = 214 + 80 = 607 + 90 =
303+ /0= 106 + 80 = 709 + 90 =
416 + 70 = 317 + 80 = 804 + 90 =
524 +70 = 703 + 80 = 901 + 90 =
619 +70 = 516 + 80 = 308 + 90 =
808 + 70 = 907 + 80 = 402 + 90 =
512+ 70 = 316 + 80 = 805 + 90 =

Aciertos: Aciertos: Aciertos:




Célculo mental /v\N/v\Y/v\

Nombre y apellidos:
11

Fecha: Matematicas 2.°

Sumar decenas completas a nimeros de tres cifras

624 + 30 = 654

173 + 20 = 701 +10 = 415+ 50 =
951 + 40 = 303 + 90 = 104 + 90 =
534 + 60 = 215+ 20 = 851 + 10 =
417 + 80 = 917 + 80 = 226 + 40 =
686 + 10 = 428 + 30 = 747 + 20 =
268 + 30 = 119 + 70 = 308 + 80 =
749 + 50 = 836 + 40 = 959 + 30 =
825+ 70 = 624 + 60 = 602 + 60 =
302 + 90 = 542 + 50 = 513+ 70 =
362+ 10 = 542 + 20 = 553+ 20 =

Aciertos: Aciertos: Aciertos:




Célculo mental /v\N/v\Y/v\

11 Nombre y apellidos:
Fecha: Matematicas 2.°

Sumar decenas completas a nimeros de tres cifras

30 + 624 = 624 + 30

20 + 904 = 40 + 217 = 50 + 106 =
70+ 118 = 80 + 601 = 90 + 603 =
60 + 525 = 20 + 834 = 10 + 355 =
90 + 201 = 60 + 329 = 40 + 526 =
30 + 648 = 30+413 = 80 + 108 =
40 + 422 = 90 + 508 = 20+ 913 =
50 + 743 = 10 + 756 = 70 + 421 =
80 + 306 = 70 + 925 = 30+732 =
10 + 827 = 50 +132 = 60 + 224 =
40 + 225 = 10+ 575 = 40 + 225 =

Aciertos: Aciertos: Aciertos:




